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Lesson 1: Student Resource Sheet 7

Ptolemy [b. 100 AD]
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Ptolemy

Ptolemy was born in Egypt c.100AD. This was a different world from that of Aristotle. Egypt, which had been conquered by Alexander, was now a melting-pot of ideas and cultures. This included the new and growing religion of Christianity.

For about 150 years, Rome had overtaken Greece in military and political power. The Roman Empire was expanding. The Romans liked and admired the Greeks and had great regard for their learning. Ptolemy was from a Greek family, born in the city of Alexandria (named after Alexander). It was a good time and place to live, especially if you were Greek or Roman.

Ptolemy is famous for having written a book on astronomy called ‘The Almagest’. It covered six hundred years of Greek astronomy and even mentioned early Babylonian astronomy as far back as the eighth century BC.

He compiled a list of 48 astronomical star constellations.

He provided proof that the earth was a sphere.

He divided the world into lines of latitude and longitude that correspond to precise geometric positions among the stars.

Ptolemy used instruments to improve the accuracy of measurements. This was an important development in science. In maths he took the Babylonian 360º circle and turned it into the ‘armillary sphere’ which helped to make accurate sightings of the planets. He also used an astrolabe which was a calculating device for planetary movements.

Ptolemy tried to solve a problem. Aristotle’s model of the planets moving in perfect circles or orbits was attractive. Yet data collected from observation of their movements was puzzling. The planets did not seem to move exactly as they should. Sometimes they even seemed to do loops, or move backwards. This is why they were originally called ‘planets’ – from the Greek word meaning a ‘wanderer’. Their speed seemed to vary too. So Ptolemy invented a geometrical device called an epicycle. This helped to explain the observations by adding on smaller circles to the larger orbits. (It was very complicated, but it seemed almost to have solved the problem.) This model of the universe became known as the Ptolemaic model, although really it was the Aristotelian model with some adjustments. 

Today, we know that the real answer to the problem is that the planets do not move in perfect circles but in ellipses or oval orbits.
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